Free Questions for S90.03 by vceexamstest
Shared by Clemons on 24-05-2024

For More Free Questions and Preparation Resources

Check the Links on Last Page



Question 1

Question Type: MultipleChoice

Which of the following are not service-orientation design principles? Select the correct answer.

Options:

A- Service Abstraction
B- Service Reliability
C- Service Autonomy

D- All of the above are service-orientation design principles.

Answer:

B

Question 2

Question Type: MultipleChoice




A(n) in the extent to which the Service Reusability principle is applied to a service can result in a(n)
in the potential for the service to be repeatedly composed. SELECT ALL THAT APPLY

Options:

A- decrease, decrease
B- increase, decrease
C- decrease, increase

D- increase, increase

Answer:

A D

Question 3

Question Type: MultipleChoice

Service-orientation establishes a distinct approach to carrying out a(n) . Select the correct answer.




Options:

A- separation of concerns
B- identification of constructs
C- inheritance of contracts

D- refactoring of code

Answer:

A

Question 4

Question Type: MultipleChoice

The Service Discoverability principle is supported by the Standardized Service Contract principle in which of the following ways? Select
the correct answer.

Options:

A- The Standardized Service Contract principle advocates using naming conventions for ensuring that the functionality of services is
consistently expressed. By making the service easier to understand, it becomes more discoverable.



B- The Standardized Service Contract principle supports a design process whereby the service contract is customized and created prior
to the service logic. This allows service designers to shape the service contract content in such a manner that it can be effectively
discovered.

C- The Standardized Service Contract principle requires the use of service contract design standards that can be created to establish
conventions that are supportive of the Service Discoverability principle.

D- All of the above.

Answer:

D

Question 5

Question Type: MultipleChoice

A service cannot enter the role of composition sub-controller when invoked by a composition initiator. Select the correct answer.

Options:

A- True



B- False

Answer:

Question 6

Question Type: MultipleChoice

The service-oriented architectural model is ideally designed to be neutral to vendor platforms so that organizations have the freedom to
diversify by leveraging multiple vendor technology innovations over time, as required. Select the correct answer.

Options:

A- True

B- False

Answer:

A
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